V2 74 3 A 1 BBE (HoAD : AARA+SEA)

RrHT4 HE R | s [ 55 (A) | B | & (B) | #E | & (A+B) HE Dk
JHI 3T 2, 150 -9 2, 672 11 2,718 -8 5, 390 -19
JHPTHT— T H 929 11 971 8 888 2 1, 859 10
T — T H 530 6 600 5 580 6 1, 180 11
P =TH 584 -1 700 -1 635 -1 1, 335 -9
JHPTHTIU T H 408 3 482 1 511 1 993 2
P HT H 291 0 332 1 306 —4 638 -3
PR T H 256 -1 347 -1 358 2 705 1
FESEHT 206 1 234 1 242 1 476 2

A 358 0 472 0 487 -1 959 -1

T H 1,715 -5 2,043 —4 2, 064 -5 4, 107 -9
PITHT 326 -3 366 -7 341 —4 707 11
HgTH 816 -9 952 1 901 2 1, 853 3
BT — T H 243 -1 361 1 386 0 747 1
T — T B 299 1 458 2 426 3 884 5
HHT =T H 468 1 673 4 698 1 1,371 5
FHTIY T H 244 3 381 3 382 5 763 8
HrH 227 2 296 1 286 1 582 2

H] = 291 0 385 0 376 -1 761 -1

=R 442 -1 494 -1 523 -2 1,017 -3

— Y KFMT—TH 0 0 0 0 0 0 0 0
Y ARHMH T H 27 0 43 0 35 1 78 1
G 100 1 141 1 139 0 280 1

— Y KHTH 4 0 6 0 6 0 12 0
KH B 590 0 812 0 832 -1 1, 644 -1

[E TN 3, 986 13 4,801 -9 4,874 11 9, 675 2

IR 4, 258 6 4, 669 7 4,615 6 9, 284 13

EC R 1,234 -3 1, 466 —4 1,543 -1 3, 009 -5
R 6 0 8 0 8 0 16 0
ELHR—TH 834 -10 866 -13 981 -12 1, 847 -925
E+HR_TH 1,017 -2 1, 141 -2 1, 177 1 2,318 -1
ELHR=TH 776 -9 868 -2 852 —4 1, 720 -6
ELARMNTH 643 7 727 6 729 2 1, 456 8
B LRI TH 643 —4 790 —4 746 -3 1,536 -7
ELHRANTH 0 0 0 0 0 0 0 0
B T 1,742 -5 1,963 -6 1, 882 -1 3, 845 -7

Wy —T1T 8 258 -2 309 -2 312 ) 621 -4
Wy T B 231 0 269 1 245 0 514 1
Wy b ="TH 402 -1 465 -3 478 ) 943 -5
o EPUT B 614 -1 672 0 709 1 1, 381 1
Wy T B 389 -2 498 0 540 ) 1,038 )
mIT—T1H 246 0 309 0 343 -1 652 )
EET T H 542 3 659 5 705 4 1, 364 9
Pl =T H 209 0 262 1 306 -2 568 -1
Zf 29, 534 10 34, 963 21 35, 165 7 70, 128 98
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